SUMMATIVE ASSESSMENT -l (2011)
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MATHEMATICS / 7Tford
Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fauiRa 999 : 3 gve AR aH 3ih : 90

General Instructions:

(i)
(i)

(i)

(iv)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section A
comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks each,
section C comprises of 10 questions of 3 marks each and section D comprises 10 questions of
4 marks each.

Question numbers 1 to 10 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Questions number 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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(A) 5 (B) 9 © -3 D)
(372) w2
(A 5 (B) 9 © -3 D)

(A) 2 (B) 0 ©) 1 (D)

N =

2 wwagrcasieame:

(a) 2 (B) 0 © 1 O ;
Degree of the polynomial (x3—2)(x2+11) is :

(A) 0 B) 5 © 3 (D)
TR (3 —2) (2+11) = ome:

(A) 0 B) 5 © 3 (D)
Degree of which of the following polynomials is zero :

(A) «x (B) 15 O vy D) x+«?
fr=fafed # fFg Tgue =t T = -

A) «x (B) 15 Q) v (D)  x+«?

Two angles measure (30 —a)°® and (125 + 2a)°. If each one is the
supplement of the other, then the value of a is :

(A) 45° (B) 35° (C) 25° (D) 65°
3 =it w1 A (30 — a)° e (1254 2a)° 1 AfE Feeh shior g T o6l
TRHE, T aF AT :

(A) 45° (B) 35° (C) 25° (D)  65°
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10.

11.

12.

In ABC, if BC=AB and #B=80° then ZAisequalto:

(A) 80° (B) 40° (C) 50° (D) 100°
s ABC #, afc BC=AB 3R £/B=80°%, @ LA & A IR © :

(A) 80° (B) 40° (C) 50° (D) 100°

The area of a triangle whose sides are 13 cm, 14 cm and 15 cm is :

(A) 42cm? (B) 86 cm? (C) 84 cm? (D) 100 cm?
Ife 1S 1 omd 13 A, 14 F.1fF 3R 15 A, 2, & ST &A% BT -

(A) 42972 (B) 86 .72 (C) 84u? (D) 100 &+
The area of an equilateral triangle is 16 <3 m% Its perimeter (in metres) is :

(A) 12 (B) 48 (C) 24 (D) 306

fereht TwaTg I &1 &9e 16 3 m’ ¥ | 5e uREm (Fed #) ®

(A) 12 (B) 48 (C) 24 (D) 306

Section-B

Question numbers 9 to 14 carry two marks each.

32 j‘%

Evaluate, (—
243

1 HH J1d HIfT |

(2"

Find the value of a if (x — 1) is a factor of 2x2 +ax+ 2.

afe (x — 1) Fg98 2x2 4 ax + V2 1 TF EES 2, @ g F AE @ F

x — 1], [x + 1], [x2 + iz] and [x4 + i4]
X X X X

Find the product of

-3

In figure, AE=DF , E is the mid—point of AB and F is the mid—point of DC. Using an
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13.

Euclid axiom, show that AB=DC.

B D
/ \
A C

3Tpfa #, AE = DF e fag E Wares AB &1 7% - fag ¥ iR F t@@s DC #1947 - fag §1 gfae &
T ATfEd 1 WA Xd gY, Sise foh AB=DC ¥ |

B D
/ \
A C

ABC is an isosceles triangle with AB=AC. Draw AP 1 BC. Show that «B= ~C.

ABC t Tafgarg s & i AB=AC T AB L BC @i fagwifsefde ~,B= ~C.

OR
In the given figure, line segments PQ and RS intersect each other at a point T
such that PRT=40°, ZRPT=95°and £TSQ=75°. Find ~#SQT.

& ¢ afa #, Y@ we PQ den RS ww gt #1 fag T W 39 wahR wiossfed &t € fn  «PRT =40°,
/RPT=95°qan TSQ=75° 21 ~SQT =1 a4 Id sifeu |
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14.

15.

16.

17.

Which of the following points lies on x-axis ? Which on y-axis ?
A(0, 2), B(5, 6), C(—3,0), D(0, —3), E(0, 4), (6, 0), G(3, 0)
frfafed 8 & =8 3 fog x-18 W frod 82 & F fog y-a18 W frem @2

A(0,2), B(5, 6), C(—3,0), D(0, —3), E(0, 4), F(6, 0), G(3, 0)

Section-C

Question numbers 15 to 24 carry three marks each.

Find the value of :

4 _ 1
—2 -3
(216)7 (256)T
A I HiTT
4 _ 1
—2 -3
(216)7 (256)7

OR
Represent /3.2 on the number line.

&I W W /3.2 & °a faeg 9 Fifew |

Simplify the following into a fraction with rational denominator.

1
5+ 6 — V11
=1 =1 9REa & a1l sl o T9 H e i |

1
5+ 46 - 11

Ifp=2-—a, provethata3+6ap+p3—8=0.
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18.

19.

20.

21.

afep=2—a %, @ foag e fF a3 + 6ap +p3 —8=0.

OR

3—i—2x+z.

Factorize x 3
X X

UGS HITSY x° —%—2x+2.

X X
Using suitable identity evaluate (— 32)3 + (18)3 + (14)3.
SR Tt WA w5 (— 32)3 + (18)3 + (14)3 =1 W I #fm
Prove that if two lines intersect, the vertically opposite angles are equal.
e <1 T@ WER Yfaesg ! €, d fag Hifse fF eimifaga o aer 89 €1

OR

If the bisector of a pair of interior alternate angles formed by a
transversal with two given lines are parallel, prove that the given

lines are parallel.

afe fordt foeder Y g < < g T@mell & Yfdese it T o 3T: Uehial hivll o Ueh 70 o GHfgHSH
i ¥, a1 fag Fifee fe < € @ 99w 2

ABC is a right angled triangle in which ZA=90° and AB=AC, find the values of /B

and «C.

T guehiv st ABCH ZA=90°3iRAB=ACTI /B3R £C % AF Fd *ifs |

In given figure below, ABC is a triangle in which altitudes BE and CF to sides
AC and AB are equal. Show that

A

(i) AABE=AACF
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22,

23.

(i) AB=AC

& ¢ arrfa §, AABC % viiverst BE @en CF ystt AC e AB W ® @@ sieR € | €91ise o :
A

B C
(i) AABE=AACF
(i) AB=AC

In given figure below, C is the mid point of AB. ZACE=2/ZBCD and
ZCAD= ZCBE. Show that

E D

A C B
(i) ADAC=AEBC

(i) AD=BE

& T amfa , AB @ wet fag C %, LACE = /BCD ae1 ZCAD = Z/CBE %1 =izt f -

E D

A C B
(i) ADAC=AEBC
(i) AD=BE

In figure, prove that ! || m.
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24,

25.

m
k p
v o /.
B B0 &
-

F

st i, fog if 5 1 || m.

1
A
m
. p
80° & /.=
B 3BYD G

50

F

Find the height of the trapezium in which parallel sides are 25 cm and 10 cm

and non-parallel sides are 14 cm and 13 cm.

U TOCE i SETE A0 ST (8! TH=R Yo 25 I8t 2R 10 d+ § qen omuR e 14 I iR

13 9t €1

Section-D

Question numbers 25 to 34 carry four marks each.

26 . 62 83
2+B J6+B e +27

26 62 83
TR a3 o+ B ot B

OR

Simplify :

3 -2 3 +42
B+ T B

If x= —=——= and y ——,findthevalueofx2+xy+y2.
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26.

27.

28.

29.

30.

.qﬁxz’\/g_ﬁ _’\/g‘i‘\/E

adar y

G VT B
Ifx=9—4\/§' find the value of x2 + iz

X

A %2+ xy + y2 1 HH 1 B

Zrﬁq’x=9—4\/§,a‘rx2+i2 AT I |
X
(i) Expand (1a—1b+ 1)2
P 4 2

(i) Evaluate (102)3, using suitable identity.

2
(i) Ga—%b+ 1) 1 THIia w9 H fod |

(i) v wEEfEms w1 Wi #= (102)3 %1 7F 3@ i
If 3a—2b+5c=5 and 6ab+10bc—15ac=14, find the value of
27a3 +125¢3 + 90abc — 8b3.

afc 3a —2b + 5c=>5 @ik 6ab +10bc — 15ac =14 &, a1 27a3 + 125¢3 + 90abc — 8b3 = am=
RiskEASE

State Factor theorem. Using this theorem factorise x3 —3x2 —x +3

TG TR T e fAfET | gEe WA @ a0 — 332 — x + 3 3 e #T

OR
Find the value of a if the polynomias ax3 +3x2—3 and 2x3 —5x+a

when divided by (x —4), leave the same remainder.

gl axd + 3x2 — 3 @ik 2x3 — Bx +a F (x —4) T 9 T T T S I o= £ a F A
T iy |

Plot the points A (0, 3), B (5,3), C (4,0), and D (—1, 0) on the graph paper

Identify the figure ABCD and find whether the point (2, 2) lies inside the figure

or not ?
i frdwne qa 9 fag A (0, 3), B (5,3), C(4,0), an D (=1, 0) = sreifgd sifsg) swmepfa

ABCD =1 7ga & 391 M saigd | 371 g (2, 2) Tepfa o o= W H fe@ 72

Page 9 of 11



31. In figure given below, if AB||CD, EF LCD and ZGED=126° find ZAGE, /GEF
and ZFGE.

= smeRfd T afg AB||CD, EF 1CD dan /GED=126°% @ </AGE, /GEF den /FGE 3@
FHIfST |

A ¢ g B

A
Y

\126°
E

Y

A

g D

32.  1In figure below, D is a point on side BC of AABC such that AD=AC. Show that
AB > AD.

A

B D C

stefd #, AABC &t qs1 BC w fag D 38 v&r fem @ ff AD=AC %1 fag =ifsm
f& AB > AD 71

33. Inthe given figure, if AB=FE, BC=ED, AB L BD and FE _LEC, then prove that AD =FC.
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34.

AABC is an isoceles triangle in which AB=AC. Side BA is produced to D such
that AD=AB. Show that /BCD is a right angle.

AABC = wHfgarg fays @ i AB=AC g1 afc g1 BA &1 fig D d& 39 YR sigrn 5 § &
AD = AB @ i <uiize f&  /BCD g9ahior 7 |
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